10 | 9 | 8 | 7 | 6 | 5 | 4 | 3 | 2 1

M12 8POLE M12 8POLE
FEMALE MALE OPTIONS
PART No MATRIX NI\
‘SZM\CFD ‘B:M\Uu ‘8:8 Core ‘030 = Female Straight/Male Straight M=Metres LENGTH \Dvermould color:
Change Change enate Stragnitide Sirog W F-Feet 020=2 METRES W Blank=Black PUR (Standard)
VIEW FROM THE FRONT SIDE | | VIEW FROM THE FRONT SDE CABLE: 888@%&?5& §0ey
— | [Pin_|Wre color Pin_| Wrre color B41 = 0,25mm2, TPU black UNSH DCS = T
T WEITE W_W E02 - 0.25mmz PVC black Blank=Yellow PUR (Standard), but with cable S19
HO8 = 0.25mm2, PUR black LSOH Coupling Nut Materidl:
ARG R P02 - 0,25mm?, PUR/PVC black Blonkosiandard Bross
s = P19 = 0.25mm2, PUR black LSOH braid 1=Hex nut/Stainless Steel
4| YELLOW 4| YELLOW S19 = 0.25mmz, PVC vellow braid 5-Delrin
5 | GREY 5 | GREY 7=Teflon Coated
B | PINK B | PINK WH:Z pieces of I/D Carrier
7 | BLUE 7 | BLUE
8| RED 8 | RED
Table of length tolerances
Over Up to and including| Tolerancja (+)
Q 305 +19
305 915 +45
915 1830 +56
1830 3660 +89
3660 7320 +165
7320 14640 +317
14640 30500 +610
30500 > +2% of length

1 11 N77

X

/N —

——— e == = o
7 -

90 1 e

M12X1
M12x1

\ /

2xI/D_Carrier

VIEW FROM THE FRONT SIDE 505 e N —Hatrix VIEW FROM THE FRONT SIDE
— L + Tol.
Bill of Materials
1 1| LABEL - YELLOW
10 | 1 | INSERT M12 8P MALE SEE MATRIX |SEE MATRIX
9 | 8 | CONTACT MALE SEE MATRIX |SEE MATRIX
8 | 1 | COUPLING NUT MALE M2 |SEE MATRIX |SEE MATRX === [quaLy| GENERAL TOLERANCES SHENSON STCE SCATE T DESGNUNITS TRD ANCLE
7 | - |ID CARRER SEE MATRIX |SEE MATRIX g S33| |symeoLs| (UNLESS SPECIFIED) MM ONLY - METRIC | © ClpROECTION
Z g g g _— mm ‘NCH DRAWN BY DATE TITLE
6 MOLDING MATERIAL SEE MATRIX |SEE MATRIX = % S88|z v:O 7 PLACES|E-—— a— STRASZK IEWI 2014/07/07 CSE M12 M12 8P
5 | 1 | 0RNG FPM RED é ¢35 £k I PLACES [+ — |+ CHECKED BY DATE FE STR MA STR XM DE
4 | 8 | CONTACT FEMALE SEE MATRIX |SEE MATRIX 022,25 \G/=0 [ZPLACES|E— [£-— |JMARSZALEK 2014/07/01
ax % g ~lu 1PLACE + + -—- APPROVED BY DATE
3 | 1 | COUPLING NUT FEMALE M12 |SEE MATRIX |SEE MATRX oY 2oZl° T RACE T 1T MIWASIECZKO 2014/07/09 mglgx
2 1 INSERT M12 8P FEMALE SEE MATRIX |SEE MATRIX |<_( ) § é é AN%ULAR jjq ° MATERIAL NO. DOCUMENT NO. SHEET NO
=) +
1| - | caBLE SEE MATRIX |SEE MATRIX %u Z=a DRAFT WHERE APPLICARLEL  SEE MATRIX SD-120066-002 1 0OF 1
Lo =t MUST REMAIN SIZE [ THIS DRAWING CONTAINS INFORMATION THAT IS PROPRIETARY TO MOLEX
ITEM QTY. | DESCRPTION MATERIAL FINSH A1 o WITHIN DIMENSIONS A INCORPORATED AND SHOULD NOT BE USED WITHOUT WRITTEN PERMISSION

b_frame_A3_P_ME_T
Rev E1 2012/01/25 9 8 7 6 5 | 4 | 3 | 2 | !




